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[ (1R SICHe0 = 75
(0]

DS5I0FI33) : 3.00 (50exe0 ]
[ Maximum Marks : 75

Time Allowed : 3.00 Hours ]

SESSen : 1) [DHDDE S0BDS0 WOM SPT BV BIEIBV. S0send® HB0 §0S

€35,0,,650 (70 DTREERNG BDOTBOFNS0.
2) TODmRE 508050 0EESS 5 008 Heo Sme 5wy GorHd VP STEBD

GHBTA0S0B. DSDEROED DS SHBTA0T0E.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black irik to write and underline and pencil to draw diagrams.

KoDE : & (H HBES® Tenrd grifmed &IHaN.

Note : This question paper contains four parts.
oif&» - 1/ PART - 1

A% 1 () of BHed amoes R 12x1=12
(i)  SSPES Foentd @*3",5:”365"0066 w&HgorT HOHE e35ensd oD THED, EEN)
SES 5005 Homoh BT [Fainzn.
Note: (i) Answer all the questions.

(i) Choose the most appropria
the option code and the corr

te answer from the given four alternatives and write
esponding answer.
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1. 28 88 rsw 25 5 d&wdo.

(@) 988@S (b)  9.8x10% &mses§
() 98x10*gs (d) 9808S

One kilogram force equals to :

(@) 9.8 dyne (b) 9.8x10¢N
(c).~98x104 dyne (d) 980 dyne

2. SESan o3 g &) 300 eSErRoD BSOS ?
(a) Boogrsed Besskn (b) Dersed Beassw

() Hogrses S8ymsn (d) ogrdah Sessn
The eye defect ‘Presbyopia’ can be corrected by :

(@) convex lens (b)  concave lens

(c) convex mirror (d)—~"bifocal lens

3. a8 Hochiwd® Bow DothHe G5 10 Srerode @36’“5& SDOHTAHEIE I B9
100 FSen. ©and © Toth Dothio Wiy 58 Bisswbr EmLodn.

(a) 0.1 ey 7 (b)/lO &.ep

(c) 100 &ex (d) 1000 &ey

The work done in moving a charge of 10 C across two pointsin a circuit is 100 J. What is the
potential difference between the points ?

@ 01V b) 10V
() 100V (d) 1000 V
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B8 BEBFOEE5 P80
(a) BESS b 05S b
(c) Trotias (d) DS &6
Artificial radioactivity was discovered by :
(a) Becquerel (b) Irene Curie
(c) Roentgen (d) Neils Bohr

ofreSHH Soird oD Sk wogy Sdran

@ Ag & Hg © Mg @ A
is an important metal to form amalgam.
@) Ag (b) Hg (€ Mg (@ al

25 STFKE HG DETDD HEPSIOIRPE S5ERS® FainHe DY) EPEBaHS
Q@

(a)/émdcia (b) DEpSH
(@ &S (d) S8 238K

When the pressure is increased at constant temperature, the solubility of gases in liquid

(a) no change (b)  increases

(c) decreases (d) no reaction

o6 (et God) pH Denid 3 wand, T [OH] G mid
(@ 1x10-3M () 3M (@ 1x1071M (4 1IM
The pH of a solution is 3. Its [OH™] concentration is :

(a) 1x10-3 M b 3M € 1x10°"M (d) 1M
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8. GCHOH + 30, — 2CO, + 3H,0 @d6 :
@) =S Zarssmo ok
(bf SIS S5550 o
(€) =ESans o500 wd¥smo BokHes

(d) =B e—sé‘\)éémo Doy
GH;OH + 30, - 2CO, + 3H,O s :
(@) Reduction of ethanol

(b) Combustion of ethanol

(c) Oxidation of ethanoic acid

(d) Oxidation of ethanal

9. =YPYOSHS afen 3t Hoh EDACKOLK.
(a) Sepedm (b) 5555'
(c) BIBH™ (d) ooB:SEsn
Casparian strips are present in the of the root.
(@) cortex (b) pith
(9/ pericycle (d) endodermis
10. g (@rodos® ?oo[_&?sgboﬁ)g st SHE® sotnob.
@) &B&0B5 Soer o5
(€) RE-verDoBE (d) (088
The centromere is found at the centre of the chromosome.
(a) Telocentric (b) Metacentric
(c) Sub-metacentric (d) Acrocentric
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1. [H%0S dowky e :
4 &o281 ®) & 31
(0 S22 (d) @53235 2
World AIDS Day :
(@) December 1 _ (b) May 31
(c) April 22 (d) October 2

12, HomrodEndd QRoDHEH GIBrKHD FHIE OB ?

(2)
(©)

Which software is used to create animation ?

(@)
(©)

Paint (b) PDF
MS Word (d) Scratch

Paint (b) PDF
MS Word @.)//Scratch

i - 11/ PART - II

eSS (Bod BS O3 O HHpS esTRoen orchol. () oy 22 EHIIC.

Note :

Answer any seven questions. Question No. 22 is compulsory.

13. 2.8 36°%60 QDo

Define one Calorie.

14, o53% d8oro wdmED 7

What is a longitudinal wave ?

8520

7x2=14
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15.

16.

17.

18.
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B0 Ky DePLH XS DJTe Both DT DOBHOD (TeCHow.

State two conditions necessary for rusting of iron.

(Bob B 23838 5H%m.

1.  -OH $DchH Saresesn i) B

2. 208 Sc% sdyrres (i)  Srertoho HHBE |
3. eXos (i) Se)S

4. By (iv) SRS

5. 8% Sdon Saygoren (v) &8s

Match the following :

1. Functional group -OH (i) Benzene ~ '

2. Heterocyclic compounds (i) Potassium Stearate R
3. Unsaturated compounds (iii) Alcohol

4. Soap (iv) Furan

9.  Carbocyclic compounds (v) Ethene

5)BaHE0E* A Bareasine TE) Swggso BeoH.

What is the importance of valves in the heart ?

&°Qof ©RrRd 7 KYBSEor £ dey (BEBoSKOD ?

What is Bolting ? How can it be induced artificially ?
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19. A, B, C $00» D ok %805,

20, &BoD: 8D BHf P08 ©SIEPS OFRO. AoHBOD 8B OSIELS Feo ?

The degenerated wing of a Kiwi is an acquired character. Why is it called an acquired

character ?

21, Hysvess K85 D wtidH ?

What will happen if trees are cut down ?

22. %38 (CH,) &° Ko Sros® Bosolys e EOR o,

Find the mass percentage composition of methane (CH,).
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g - IIT/ PART - III

RS Bod B OFS M (Bho ammes Tobod. (54 Soag 32 VG,

Note : Answer any seven questions. Question No. 32 is compulsory.

23. o889 srain SuE8emsnd TR0,

Derive the ideal gas equation.

24. R B $o8chn BY @y Sorss Ko Brrewd Frohod.
Differentiate the eye defects : Myopia and Hypermetropia.

25. oo, dir S8 rEr D8BmEme $ESves Meydn.

Compare the properties of alpha, beta and gamma radiations.

26. OIMPE JaHHo oY) eHSTT [EEAHED.
Write the applications of Avogadro’s Law.

27: (i) uF S5Fen @08 DDA ?
(i) DF S S ToHEAB Ko s8eren (FTeknsn.-

(i) Whatis an alloy ?
(ii) State the reasons for alloying.

28. Xay) Go¥) goEE Sog HErSind DBBow.

Explain the mechanism of cleansing action of soap.

29, @woRd® KK O DForr ek ?

How does locomotion take place in leech ?

30, &mgoel G Aoyt SHO Bk $aHos® HHBoDHED.

With a neat labelled diagram, explain the structure of a neuron.
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31. () g5Fohin @wE) $OStwen 5 2
(i)  arEahsn> dty A oSS 2 o

()  What are the consequences of soil erosion ?

(ii) How will you prevent soil erosion ? |

32. &8 G0 exs¥Eim 90 Hz D8ediging® (0 688 3im 5o dondaing) 0806 JH™
$R0 Frios® 1/10 3 Sod Fros® hersny. wond SBEH (TS HP B0
Qo ?

A source producing a sound of frequency 90 Hz is approaching a stationary listener with a
speed equal to (1/10) of the speed of sound. What will be the frequency heard by the

listener ?

[

geii&o - IV /PART - IV

FS IR

Note :

Bob S o) (BEHRD aT@ed TaHol. ©BIBDI o Dgroid Acdod.  3x7=21

Answer all the questions. Draw diagrams wherever necessary.

| 33. (@) (i) BoH L(Séééﬁ K)éﬁegés DeH5ENH B9 T AEroBoA.

() (P DaHSHEOD DB,
Ging

b) () DEgS s wSmad ?

(i) DeSE (B Sreasin® 80D, TR QDO

( o Lo @ LHe880 $358a008° Eendrth ? B Sochsns® D B¥orr
ili) DLgE (Ha°
Poprso 35_';63 ?
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(a) (i) State and prove the law of conservation of linear momentum.

(ii) State the principle of moments.

OR

() (i) What is meant by electric current ?

(i) Name and define its unit.
(i) Which instrument is used to measure the electric current ? How should it be

connected in a circuit ?

3. (a) () oSrdy Sorre ©o8 elgsds Soreren O DEorr PSHHD ?
(i) wostees ST S (HiTed® ISHoHD, JoHH ?

(i) 0XH0E;es FSELND VBDOTHEW.

B

(b) () Gyse $605 by SEuH BEbtomm.

() a8 o8 dapddo ‘AT 38 TIYtH B $HBAw ‘C @ oty &Ko

oo, C ek TonH OB ore HodEH Bb epBEH o, A,

B $805n C ol Efidosn.
In what way hygroscopic substances differ from deliquescent substances ?
(i) ~ The acquatic animals live more in cold region. Why ?

(iii) Define volume percentage. -

OR

(b) (i) Differentiate reversible and irreversible reactions.

(i) A solid compound ‘A’ on heating decomposes into gas ‘B" and ‘C". On passing
the gas ‘C’" through water, it becomes acidic. Identify A, B and C,

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.TrbTnpsc.com

11 8520

35. (@) (8ot aX@dd T8 g FSEwesH (& c%055m.
() OBSE I HBA By Sk

(i) SIS DO TPAMWBERS FdBaen
g
b @ ETED JouErR D56oHo.

(i) =088 axdoy D8E) BBy Daskere akng D8) B BifKe Twren (Fecn.

(a) Differentiate the following :
(i) Monocot root and Dicot root

(i) Aerobic and Anaerobic respiration

OR
(b) (i) Explain the structure of a chromosome.

(i) Distinguish between somatic gene therapy and germ line gene therapy.

-o0o-

- BUBRANMIANIAM
By Asst TEWE ]
GIONT: WG\ Sewa)
NEDINAW .
PRVVIPAT LB\ ok

TWARUIAVMIR Qo
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